Apples | Strawberries | Bananas | Raspberries | Pineapples || Kiwi fruit
12p each | 21p per 100g | 18p each | 34p per 100g | 47p each | 24p each

How much will the following baskets of fruit cost?

la. An apple and a banana 30p £4.70

b. 2 apples and a pineapple 71p £4.29

c, A kiwi fruit and 100g of strawberries  45p  £4.55

d. 200g of raspberries and 3 apples £1.04 £3.96

e. 2 Kiwi fruit, 300g of strawberries and 4 bananas £1.83 £3.17
f. 250g of raspberries, 2 pineapples and a kiwi fruit ~ £2.03 £2.97

2. You have been given £5 to spend on fruit. Work out how much change
you would get from each of the above baskets.

Answers above in blue

3. You have got £2.72 in your pocket. How many grams of raspberries
can you buy? 800g

4. Which is most expensive; 800g of strawberries or 5009 of

raspberries? Strawberries £1.68
Raspberries  £1.70 <— Most expensive
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